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QUESTION 1

Which of the following BEST describes overprovisioning in a virtual server environment?

A. Committing more virtual resources to virtual machines than there are physical resources present

B. Installing more physical hardware than is necessary to run the virtual environment to allow for future expansion
C. Allowing a virtual machine to utilize more resources than are allocated to it based on the server load

D. Ensuring there are enough physical resources to sustain the complete virtual environment in the event of a host
failure

Correct Answer: A
This is the best definition of overprovisioning in a virtual server environment because it means allocating more CPU,
memory, disk, or network resources to the virtual machines than what is actually available on the physical host. This can

lead to performance issues and resource contention.

References: https://www.hpe.com/us/en/insights/articles/10-virtualization-mistakes-everyone-makes-1808.html|

QUESTION 2

Which of the following script types uses commands that start with Set-?
A. Batch

B. Bash

C. PowerShell

D. JavaScript

Correct Answer: C

QUESTION 3

A server administrator is gathering full datacenter inventory of all the server hardware to submit to the IT manager for
next year\\'s budget for a technology refresh project. Which of the following life-cycle management stages is this?

A. Procurement
B. Usage

C. Disposal

D. End-of-life

Correct Answer: D
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QUESTION 4

Which of the following types of locks utilizes key fobs or key cards held against a sensor/reader to gain access?
A. Bolting door lock

B. Combination door lock

C. Electronic door lock

D. Biometric door lock

Correct Answer: C

QUESTION 5

Which of the following backup types copies changed data from a server and then combines the backups on the backup
target?

A. Differential

B. Incremental

C. Synthetic full

D. Snapshot

Correct Answer: C

This is a type of backup that copies changed data from a server and then combines the backups on the backup target. A
synthetic full backup is a backup type that creates a full backup from an existing full backup and subsequent incremental
backups. A synthetic full backup does not require accessing the source data again, but only the backup data that is

already stored on the backup target. A synthetic full backup offers the benefits of reducing the backup window, network
traffic, and storage space while providing faster and easier recovery than incremental backups.
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